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PHILOSOPHY
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Candidates are required to give their answers in their
own words as far as practicable

Hlustrate the answers wherever necessary

[NEW SYLLABUS ]
[ Long answer type questions ]
- Answer any two questions, taking one

from each Group : | 15 %2
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GROUP -A

How does Aristotle refute Plato’s theory of
Ideas or forms ? Discuss. : | 15

Explain and examine Descartes’s arguments for
the existence of God. . 15

Elucidate Spinoza’s theory of substance. How
are attributes related to substance, according to
Spinoza ? 8+7

GROUP - B

State and explain Berkeley’s principle of
‘esse est percipi’. Bring out its philosophical
import. ) 12+3

Elucidate Hume’s theory of cdusality as constant
conjunction. Is it satisfactory ? 10+5

What according to Kant, isa synthetic apriori
judgement ? How does Kant demonstrate its
possibility ? 6+9
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[ Semi-Long answer type questions ]

Answer any five questions, taking at least
two from each Group : 8x5

GROUP - A

7. Explain the method of Socrates’s philosophical
discussion. 8

8. Distinguish, after Leibnitz, between truths of
reason and truths of facts. 8

9. Examine Descartes’s theory of relation between
mind and body, \ . 8

10. Bring out the implication of the following
assertion : 8

“Descartes’ doubt is only initial, not final.”

11. Explain Spinoza’s theory of Natura Naturans
and Natura Naturata. 8

GROUP - B

12. Explain the - different kinds of knowledge
admitted by Locke. 8
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13.

14.

15‘

16.

17.

18.

19.

(4)

How does Hume explain the difference between
impression and idea ? ) 8

“As the dialectic proceeds nothing is lost”—

Explain. 8

“Space 'anc’i_ time are expirically real, but
transcendentlly ideal.”— Explain after Kant. 8

Bring out the meaning of the dictum ‘existence
precedes essence’. 8

[ Short answer type qﬁcstions ]

Answer any five questions, taking at least
“two from each Group : 4x5

GROUP - A

What, according to Aristotle, are the four
causes ? : 4

What is idea of Good according to Plato. 4

In what respects Spinoza’s definition of
substance is distinct from that of Descartes ? 4

UG//PHIL/H/IV16(New) ( Continued)
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20. What does Spinoza means by the intellectual

love of God ? 4

21. How does Leibnitz define monad ? 4
GROUP-B

22. What according to Locke is substance ? 4

23. What is Hume’s concept of self ? 4

24. How does Kant distinguish between synthetic
and analytic judgement? 4

25. What is the main probleni of Kant’s ‘Critique of
Pure Reason’ ? 4

26. What is phenomenology as presuppositionless
philosophy according to Husserl ? 4
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Time : 4 hours
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Candidates are required to give their answers in their
' own words as far as practicable

Illustrate the answers wherever necessary

[NEW SYLLABUS |

[ Long-Answer-type questions ]

Answer any two questions, taking at least
one from each Group : 15%x2

GROUP — A
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(a) According to the Carvikas Perception is the
only source of Knowledge' — why ?

(6) Why do the Carvakas reject inference as a
pramana ? - 6+9

(a) Explain the Jaina doctrine of Syadvada.

(b How isitrelated to Anekantavada ? 10 +5

(a) Explain the nature of Fyapti, according to
Naiyaikas.

- (b) What, according to them, are the means of
establishing (graha) Wyapti 7 Explain with.
suitable example. 5+ 10

GROUP —B
(a) Elucidate the nature of 'Prakrtit of Samkhya.

- (b) Explain the arguments of Sanmkhya in favour
of the existence of Prakrti. 5+10

(a¢) What is Arthapatti, according to the
Mimamsakas ?

UG//PHIL/H/V16(New) ( Continued)
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(b) lsitan mdependent source of knowledge ?
Discuss. 7+8

(@) What does $ankara mean by ’falsxty of the
world ?

(b) Inthis context explain critically Sankara's
doctrine of Maya. _ 3+12
[ Semi-Long Answer type questions ]

Answer any five questions, taking at least
two from each Group: = 8x35

GROUP - A

Explain the Jainas view on the bondage and
libaration of Jiva. 8

What does the term 'Prafityasamutpada’ mean 7
Explain the Buddlst doctrlne of Dependent
Origination. ' 2+6

Explain the main tenets of Sautrantika school of
Buddhism. . 8
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10.

11.

12.

13.

14.

15.

16.

UG/L/PHIL/H/1/16 (New)
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Distinguish between Nirvikanpaka and
Savikalpaka Pratyaksa —  according to
Nyaya.

Why Samavaya has been admitted as an
independent category in Vaidesika Philosophy 7

GROUP —B

Explain different types of Citzavrtti following
the Yoga system.

'Jiva is Brahman, nothing else’ — critically
explain this conclusion of Sankara.

Give a brief account of the Samkhya theory of
evolution.

What is your opinion regarding the importance,
definition and arguments in favour of God in Yoga
System ?

Give a brief outline of the dualism (Dvitavada)
of Madhva.

( Continued)



17.
18.
19.

20,

.21,

22,

23.
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[ Short—Answe;' type questions ]

Answer any five questions, taking at least

two from each Group : 4x5

GROUP — A

What is the reaction of the Carvakas against the
concept of Moksa illustrated by the Astikas ?

Make a distinction between Maha@brata and
Anubrata, according to Jaina. »

Explain the notion of 'nairatmyavada' following
the Buddha Philosophy.

What is s;ﬁmTanya as advocated by the Nyaya
-Vaisesikas. -

What is atomism according to the Vaisesikas ?
GROUP -B
What is 'Vivekakhy&'t-il, according to Sdmkhya ?

What is the nature of 'Samadhi' in Yoga
Philosophy ?

4

{ Turn Over )
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24. What is 'Tripuﬁ' pratyaksa advocated by

Prabhakara ? 4
25. Explain the meaning of the term 'Vedanta'. 4
26. What are the three types of Duhkha according

to the samkhya ? Answer in brief. 4
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Candidates are required to give their answers in their
own words as far as practicable '

HNlustrate the answers wherever necessary

[NEW SYLLABUS]

- [ Long-Answer type questions ]

Answer any two questions, taking at leastone
from each Group : 15x2

( Turn Over)
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GROUP —-A

Give an account of the experimental method. Do
you think that the experimental method alone
would be sufficient for scientific psycology ? 10+5

Explain and examine the Gestalt theory of
learning. What exactly is the relation of ‘insight’

" and ‘intelligence’ ? - T+4+4

Describe the Binet-Simon Test of Intelligence.
What are its disadvantages ? How Terman-Merrill
improve upon this scale 7 7+4+4

GROUP — B

Explain the meaning of the term ‘Community’.
What are its bases ? How does association differ
from community ? Should pristners in jail be
regarded as a community ? Discuss. 2+6+35+ 2

Explain the organic theory regarding the relation
between individual and the society. Do you
consider this theory satisfactory ? Discuss. 10+5

UGMYPHIL/H/ML/ 16(New) ( Continued )
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6. Dicuss in detail the main features of scientific
socialism. How does it differ from Utopian
Socialism ? 10+5

[ Semi-Long-Answer type questions ]

Answer any five questions, taking at least
two from each Group : 8x5

GROUP - A

7. Distinguish between positive reinforcer and
negative reinforcer following B.F. Skinner. 8

. 8. Explain and examine Philosophical Beha-

viourism. 8
9. Explain Freud’s theory of Dream. 8
10. Critically discuss the Trial and Error theory of

animal learning. 8
11. Define memory. Give an analysis of the factors

involved in memory. 2+6
UG/I/PHIL/H/IIV 16(New) ( Turn Over )
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GROUP —-B

12. “Society is the web of social relationship.”
(Mclver and page). Write a short note on the
nature of society in the light of the above
statement. 8

13. Elucidate the basic tenets of “Sarvodaya” after

Mahatma Gandhi. 8

14. Give a brief idea about the concept of freedom
following M. N. Roy. 8

15. State and explain merits and demerits of
representation democracy. 8
16. Discuss the main tenets of liberal feminism. 8

[ Short-Answer type questions ]
Answer any five questions, taking at least
two from each Group : 4x5
GROUP - A

17. Distinguish between sensation and perception. 4

UG/I/PHIL/HAIV16(New) . ( Continued)

-



(5)
18. Describe the nature of unconscious level of |
mind. 4
What is operent conditioning 7 4

20, How does a condltloned reﬂex dlffer from a
simple reflex 7 4

21. How do the reinforcing factors help in the

organisation of the sense-field ? 4
GROUP - B |
22. Whaf is meant by Anarchism ? 4
23. Explain the implication of non-violence’ after
Gandhiji. 4
* 24. What does Utopian Socialismmean ? 4

25. Explain the idea of freedom followmg
Karl Marx. , | 4

26. Distinguish between In-group and Out-group. 4
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- Candldates are required to give their answers in their
own words as far as practicable

lllustrate the answers wherever necessary
[NEW SYLLABUS ]

[Long -Answer Type Questions ]
Answer any twe of the foflewing, taking at least

-one from each Group : 15x2
~ GROUP-A -
" 1. (@) Whatis material implication ? 6

. (Turn Over)
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(b) Explainthe paradoxes of material implication. 4
(c) How can these paradoxes be resolved ? 5

2. (a) What is hypothetical syllogism ? State
the difference between pure hypothetical
syllogism and mixed hypothetical syllogism. 10

(b) Explain with example disjunctive syllogism. 3

(¢) Distinguish between inclusive and exclusive
sense of the word ‘or'. 2

3. What is dilemma? Explain with example the
different ways of refuting dilemma. 5+ 10

GROUP - B

4. Write a short note on the method of agreement.
Is there any limitation of this method ? 10+5

5. What is Crucial experiment ? Discuss whether
crucial experiment is really crucial ? i0+5

6. (o) Explain the different senses in which the
word 'cause’ is used in logic. 16

UGAVPHILH/IV/16(New) { Continued)
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(6) What do you mean by singular cause —
Explain. 5
[Semi-Long -Answer Type Questions ]

Answer any five of the followmg, taking at least
two from each Group : 8x5

GROUP-A

7. (a) Reduce the following sentences to standard
form categorical proposition : 2+2

() Every mistake is not a proof of
ignorance.

(ii) She does not give her opinion unless
she is asked to do so.

() Express the followihg in the Boolean notation
and symbolize them by means of venn
diagram : 2+2
(i) SaloneisnotP.

(ii) Everything is non-material.

udmnwvnsmew) ( Turn Over )
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8. Use Venn diagram to test the validity 4+4 7

(a) No one present is uneducated. All members
are present. Therefore, all members are
educated.

() No non-residents are citizen. All non-citizen
are non-voter. Therefore all voters are
resident.

9, (a) Prove that: No standard form categorical
syllogism is valid whcih has two negative
premises. 4 .

(b) What. is meant by Fallacy of denying the
antecedent ? Explain with example. 4

10. (a) Given that "All scientists are poets” is true
what may be inferred aboutthe truth and
Falsehood of the following : 242

(i) Some non-scientists are not non-poets

(if) Some non-poets are scientists .

(b) Simple conversion of A proposition is not
generally valid — Explain. 4

-
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11. (a) Distinguish between : L 2+2
| (i) astatementanda statement form.
(i) an argument and an argument form.
() FESAP(' is not a valid mood— prove by
_ venn diagram. 4
| GROUP - B
12. Construct formal proof of validity (any two) : 4 + 4
() H>P)-S>W).. HV ) S(Pv W)

(i) (X)[Hx>(Ex- Dx)]
QAx)(Hy -Sx):. Qx)(Ex- S9

(iii) Gold is valuable. Rings are ornaments. So
gold rings are valuable ornaments.

13. Translate any four of the followmg using
quantifiers, md1v1dual, variable etc (any four)

4
(a) Amanis excited only if he is angry. 2x

(b)) A-man wins if and only if he is lucky

(¢) There are man eaters.

UGNVPHIL/HAV/I6(New) - { Turn Over )



(6)

(d) Any author is successful if and only ifheis
well read.

(e¢) He is coward who deserts.

14. Prove the invalidity of the following : 4+4

(@) ~(E-F)
(~E-~F)>(G-H)
H>G/ : G

(b) Some politicians are leaders. Scine leaders
are not orators. Therefore, some orators are
not politicians.

15. Write a short note on — seven stages of scientific
investigation. . 8

16. Answer any two of the following : 4+4

(a) What is the probability that a 3 or 4 will
show when three dice are rolled once ?

(b) What is the probability of getting four cards
of same colour in successive draws from a
deck of card 7

UGAPRILAVIV/ 6 New) ( Conginsed }
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(c) What is the probability of rolling three
dice so that the total number of points that
appear on their top faces is 4.

[Short -Answer Type Questions] ~

Answer any five of the following, taking at least
two from each Group : 4x5

GROUP-A

17, Explain at which step the argument commits the

Existential Failacy : . 4

It is true that : No unicorn are animals fo_und
in zoo. '

=, Itis false that : All unicorn are énimals found
in Zoo.

. It is true that : Some unicorn are not amma!s
found in the zoo.

18. Given that the major premise of a valid
syllogism is affirmative and that the major term
. is distributed both in premise and conclusion
while the minor term is undistributed in both,

- determine the syllogism. o 4

UGAL/PHIL/H/TV/16(New) { Turn Over‘)
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20.

21.

22.

23.

(8)

What is a null class ? Explain with example. 4

Symbolize the following sentences«< 2+2
(a) Ram and Shyan will not both be elected.

(5) Ram and Shyam will both not be elected.

Distinguish between traditional square of
opposition and modern square of opposition. 4

GROUP - B

If A and B are true, and X and Y are false, then
determine the truth value of the following

statements : 2+2
@) (~4v P)-(~Pv D)

) P-X)oB

Use truth table to characterise the following

statement forms as tautology, self-contradictory
or contingent : : 242

@ ~@-P=~Cpv~9

® @eo9=[{Ev 9 =4]

UG/A/PHIL/H/IV/16(New) 7 ; ( Continued)
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24. Use truth table to determine the validity or
invalidity of each of the following : 2+2

(@) A x(B>o4)
A >B/: B4

®) E/ - EVF
25, What is bad analogy ? Explain. 4

26. What is the probability of getting at least one
head in the three throws of a coin. ' 4
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2016
PHILOSOPHY
[ Honours ]
PAPER -V
Full Marks : 90
Time‘: 4 hours

The figures in the right hand margiﬁ indicate marks

Candidates are required to give their answers in their
own words as far as practicable

" [llustrate the answers wherever necessary

' [NEW SYLLABUS]
[Long -Answer Type Questions ]

Answer any two questions, taking at least
one from each Group : 15x2

GROUP - A

1. (a) Explain the difinition of smrti as mentioned
in Tarkasamgraha. 10

{ Turn Over )
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b) Is smriti prama ? | 5
( p

2. (a) Elucidate Annambhatta's definition of
prama. 5

(b) Discuss the objection raised against the
definition and the solution thereof.

10

3. (a) Explain and examine the definition
pratyaksa as given in Tarkasamgraha. g

(b) Distinguish between nirvikalpaka pratyaksa
and savikalpaka pratyaksa. 4

(¢) What is the proof for the existence of
nirvikalpaka pratyaksa ? .

GROUP — B

4. (a) Whatis anumiti ? 6

(b) Distinguish between svarthanumiti and
pararthanumiti. 4

(c) Explain the panca-avayavinyaya (five-
membered syllogism) after Annammbhatta. 5

UGNLVPHIL/H/V/16(New) ( Continued )
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(3)

(a) What is linga ? 3

(b) Discuss the three types of linga after
Tarkasarhgraha and Dipika . 12

Discuss the concepts of dkamksha, yogyata,
asatti and tatparya as the conditions for
sentence-meaning after Annambhatta. - 15
[Semi-Long -Answer Type Questions }
Answer any five questions, taking
at least two from each Group : 8§x5.

GROUP - A
Explain and illustrate different kinds of karana. 8

Discuss after Annambhatta, different kinds of
anyathasiddhi. 8

Distinguish between svatah-pramanyavada and
paratah-pramanyavada in respect of jnapti. 8

10. Explain the Nyaya theory of anyathakhyati. 8

“11. What is tarka ? Explain. 8
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GROUP —-B

12. Explain the definition of paksata after
Tarkasamgraha and Dipika. 8

13. Explain the difinition of wyapti as given in
Dipika. 8

14. Test the following inferences and indicate
the hetvabhasa , if any, committed by them
(any two) : 8

(i) A cow has horn, because it is an animal ;

(i) Akasa is a coloured thing, because ltlS :
visible;

(iif) Sugar is bitter, because it is a substance.

'15. Explain the nature of sakti of a word, aocordmg
to the Nyaya. 8

16. Distinguish between jahat-laksana and ajahat-
laksana. 8
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[{Short -Answer Type Questions ]
Answer any five questions, taking

at least two from each Group : 4x5

GROUP - A
17. Whatis buddhi? 4
18. What is anuvyavasdya ? ; - 4

19. What is sarmyukta-samavaya sannikarsa ? 4

20. What is sams'aya ? ' : 4

F -

21. Distinguish between yathartha smrti and
ayathartha smrti, ' . 4
GROUP -B
22. What is Upadhi ? ' 4
23. What is Khyativada ?
24, Distinguish between laukika sabda and vaidika
sabda. ) 4
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25. What is paramarsa? 4

26. Who is apta ? 4
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PHILOSOPHY
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- PAPER ~ VI
Full Marks : 90
Time : 4 hours

The figures in the right hand margin indicate marks

Candidates are required to give their answers in their
own words as far as practicable

Hlustrate the answers wherever necessary
[OLD SYLLABUS]
[ Lbng-answer type questions ]

Answer any two questions, taking
one from each Group : 15x2

GROUP - A

1. Discuss the definition of ethics. Is it a normative

{ Turn Over )
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Science ? Distinguish between moral and
non-moral actions. - 4+4+7

. _Whatis amoral judgemeﬁt 7 What exéctly is the
object of moral judgement ? Discuss. 5+ 10

(@) Whatis the basic principle of utilitarianism
" in general ? '

(b) What is rule-deontology ?

(¢) CanKant be regarded as a rule-deontologist ?
Discuss critically. - 3+2+10

GROUP —-B

Distinguish between sex and gender. What is
meant by gender discrimination ? Explain the idea

of gender discrimination after Peter Singer.
' 2+3+10

State and explain Peter Singer's view on
environmental ethics. 15

Critically discuss Gandhiji's concept of
'‘Sarvodaya'’ and its application in [ndia. 5+ 10

UG/IYPHIL/H/ V16 ( Continued)
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11.

12.

(3)

[ Semi-long answer type questions ]

Answer any five questions, taking _
two from each Group : g§x5

GROUP —A

Explain critically Hare's Prescriptivism as a
ethical principle. _ ) : 8

Critically discuss Mill's utilitarianism as a moral
standard. o 8

Explain the Purusarthas as mentioned in Indian
Ethics. 8

Make a comparison between Preventive and

retributive theories of Punishment. 8

How would you define ethics ? Explain the
usefulness of the study of ethics. 4+4

GROUP —-B

What is Euthanasia ? Give arguments in favour of
Euthanasia. ' ' 2+6
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13. What is the Feminist argument in Favour of
abortion ? Discuss. ' R

14. Explain, after Swami Vivekananda, how a man can
lead his practical life in the light of Vedanta. 8

15. Distinguish between anthropocentrism and non-
anthropocentrism. 8

16. What is meant by 'Satyagraha' ? How according
to Gandhiji, Swaraj can be attained through
"Satyagraha' ? Discuss. 8
[ Short answer type questions ]

Answer any five questions, taking at least

two from each Group : 4 x5

| GROUP -A .
17. Write a note on Psychological Hedonism. 4
18. What is Hedonistic Calculus ? 4
19. "Allis well that ends well" is it justified ? 4

UGAI/PHIL/H/VI/16 ' { Continued)
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20. 'Ethics is not a natural Science' — Justify this |
statement. 4

21. What is 'Categorical imperative' according to

- Kant? 4
GROUP -B

22. What is the nature of 'Dharma' ?

23. Do you approve the caste-system of India ? Give
~ reasons for your answer. 4

24. What is meant by 'Deep ecology' ? 4

25. Do you support capital punishment in a case ofa
cold blooded murderer ? Give reasons for your
answer. | ' . 4

26. What is "Affirmative Action" ? | 4-
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Candidates are required to give their answers in their
own words as far as practicable

Hllustrate the answers wherever necessary

GROUP - A
[ Long-Answer Types Questions ]
Answer any two of the following : 15x2

1. (a) Do you consider that a word is merelya
written marks on paper or a noise when it is
“uttered ? Discuss.

( Turn Over)
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(b) Distinguish between natural’ sign and
conventional sign.

(¢) Place guotation marks where they belong in
the following sentences :

(i) Chienis the French word referring to dog.

(ii) The word cat names cats; and the name
for the word cat is cat. 8+5+2

(@) Critically explain the conditions necessary
for a knowledge-claim.

(») Where can the word 'know' in the strong
sense beused ? 12+3

(@) Discuss the relation ofa word to its meaning.

(b) Explain and illustrate the different senses of
'‘meaning. ' 7+8

(@) Define analytic proposition.

(b) A proposition may be analytic at one time but
not at another — Do you agree ? Discuss.

UGM/PHIL/HNVTNG { Continued)
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(3)

(¢) Mention one necessarily false proposition
and one contingently false proposition, and
~say why they are so ? 6+6+3

Explain critically the fundamental laws of

thought as propounded by Aristotle. 15

Do you think that causal principle is only a

matter of constant conjunction ? Discuss. 15
GROUP — B

[ Semi-long Answer Types Questions ]

Answer any five questions : &8x>

What do you mean by the scope of definition ?
Discuss. _ 8

Explain the Referential theory of meanin g. 8

Explain with example different fs}pes of
possibilities and impossibilities. 8

Express your opinion about the following
sentences : - 8

(a) It's true, but I don't believe it.
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(b} Isay it's true, but I don't believe it.

(c) 1 say sincerely that it's true, but 1 don't
believe it.

{(d) 1say and believe it, but I don't believe it.

11. Explain Interactionism as a theory of body-mmd
relationship. 8

12. Comment on the following statement : . 8

'Some words designate but do not denote,
and some words simply denote but do not
designate.'

13. Discuss after John Locke the theory of
Representative realism. ‘ 8

14. How does Hospers formulate the problem of
universal ? 8

15. Distinguish between slrong 1deahsm and weak
ldeahsm 8

16. Bricﬁy explain coherence as a theory of truth. 8
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GROUP — C
[ Short Answer Typeé Questions ]

Answer any five of the following : 4x5
17. What is ambiguity ? 4
18. Explain logical possibility with example. 4
19, Whaf 'is Intuition ? | . 4

20. What is meant by the quorum feature of
language ? _ 4

21. Do you think that tautologies are analytic
propositions ? Answer with reasons. , 4

22. Tshall survive aftermy bodily-déath’ — anali]’zek

the meaning of this statement. 4

23. Which of the following words can be defined
verbally and which only ostensively? 1 +1+1+1

Death, Love, Fear, Anger
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24, Which of the following propositions would
you consider to be the law of nature. Give
reason. 282

(a) Alloceans contain water.

() Iron rusts when exposed to oxygen.

25. Which of the following propositions are analytic
and which are synthetic ? Statewhy ? 1+1+1+1.

{a) Allhuman beings are mortal.
| (b) All fish live in water.
(¢) Allswans are bird.

(d) A yardis three feet.

26. Mention in which sense the word 'must' is used
in the following sentences. 2+2

(a) Youmust be in by midnight.

(b) If p istrue, and p implies g, then g must
be true.
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[Long -Answer Type Questions ]

Answer any two questions, taking
one from each Group 15x2

GROUP —- A
(The Philosophy of Religion)

1. Critically discuss Animism as a theory of the
origin of religion. 15

( Turn Over )



(2)

Explain and examine, with reference to John
Hick, the Teieological argument for the existence

of God. 15

Analyse the nature of religious consciousness
and determine after Caird the role of feelings
in it. 15
GROUP - B
(The Pfoblems of Philosophy)

What is meant by sense-data ? How did Russell
relate sense-data with physical objects ? 3 + 12

How does Russell distinguish between knowledge
by acquaintance and knowledge by description ?
Discuss. 15

Explain the value of Philosophy after Russell. 15

OR

(Vedantasara )

Explain the nature of Brahman as mentioned in
the mangaldcaranas loka of Vedantasara. 15
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10.

11.

12.

13.

(3)

Write an essay on the theory of 'Pancikarana’
in connnection with the creation of the world. 15

Explain the Buddhist and Mimamsaka views
about the nature of self, as cited by Sadananda
Yogindra. : 15

[Semi-Long -Answer Type Questions ]

Answer any five questions, taking
at least two from each Group 8x5

GROUP — A
(The Philosophy ofReligioh)

How do you distinguish between Magic and
Religion ? Does Religion originate from the
failure of magic ? | 4+4

What is meant by Tribal religion ? Discuss the
characteristics of Tribal religion. 2+6

Is the Jaina Philosophy atheistic ? Discuss. | 8

Explain whether religious language is cognitive. 8
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14.

15.

16.

17.

18.

19.

20.

(4)

What is positivism ? Explain clearly Comte's
positivistic outlook to religion. 2+6

GROUP - B
(The Problems of Philosophy)

What is Idealism ? How does Russell refute

Berkeley's Idealism ? . 2+6
What argument does Russell put in support of
the admission of physical objects ? 8

Explain after Russell  the Monad Theory of
Leibnitz. 8

What is Appearancc, according to Russell ? Explain. 8

What are the limits of Philosophy, according to

Russell 7 : 8
OR

( Vedantasara)

What is Swksmasarira or Lingasarira?
— Explain following Vedantasara. 8

" UGAIVPHIL/H/VIIVIE { Continued)



21.

22.

23.

24.

25.
26.

217.

(35)

Explain the meaning of 'Vedanta'. Discuss the
necessity of studies in Vedanta. 2+6

Explain 'S&dhanaca;u.sf_raya'. 8

Is there any difference between the material
cause and the efficient cause of the world,
according to Vedantasara 7 8

Explain the concept of adhyaropa as accepted
in Vedantasara. 3

{Short -Answer Type Questions ]

Answer any five (juestions, taking
at least two from each Group : 4%x5

GROUP - A
(The Philosophy of Religion)
What is Universal Religion ? 4

State why did the Carvaka refute the existence
of God?

What is Pantheism ? Explain. 4
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28. 'Religion is the opium of the peopie'—Explain. 4
29. Does Religion grows out of fear ? 4

GROUP - B
(The Problems of Philosophy)

30. What is ‘concept' according to Russell ? 4

31. "Tobeistobe perceived'— explain the meaning
of it. 4

32. What is the necessity of knowledge by
description ? 4

33. What is the nature of Universal, according
to Russell ? 4

34. Give an account of Hegel's dialectical method
following Russell. 4

OR

(Vedantasara )

35. Write a note on Anubandha-catustaya. 4
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6. What are the 'Vacyartha' and ‘Laksy@rtha' of |

the mahdvakya "tattvamasi® ? 4
37. Why ajﬁdna is called jrana-virodhi” ? 4
38. Distinguish between vastu and aﬁ:astu following
Advaita Vedanta. _ 4
39. What are the fanmatras ? Explain. | 4
I
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